|FTRS

=

7 e £ 5 B95LE OUDNC =<EL
SNIFE IR G HFZE ) =< ™" <
1 BREEERUI?
I\ b= b F I =2 F B
15 | 285 | 3% | 4% | 585 | 68 | &t 1% | 28 | 3% | 5t 1% | 2% | 3F 5t st
HBEE (10| 6 | O 12| 6 |47|15|15|13 (43|16 |14 |18 |48 | 138
SAEE |2 |1 |2 110|911 |1|3|2|2|2]|6]| 18
=t 12 7 11 13 6 56| 16 | 16 | 14 |46 | 18 | 16 | 20 | 54 | 156
2 HEEDOAEI?
WE | SIE | BE | BBE | B | 2B | san | o9e | mea | 5w | ez | &
1 1 1 1 89 2 5 2 2 (10 |115
3 FEEEOBREMREC? (BHNTEE R
this, | RS | BSH | W | ERT | & 3 O
A | 74 53 16 13 156
4 BREFESLTBO? (BHNT7TEE
B ¥ B & INZEER hEPEf =550 B
22—)UINR 41 29 5 75
(REB DXL 15 17 15 47
BE5E - 5 @) @) 8 8
INHER @RS @) @) 26 26
5 ZAD-=)UNRIIOEE->TLNDD?
EEHND—2 18 ,
BEI-Z 186
45
BEIOI—- 186
BLUI—2 18
6 SFEOXRERE? (BF6EEXR)
— RS
ER
Ei85t B35 Ty = B N D 5
A 2 0 0 4
BB ZEM EF
EEES B3I - _ T B
e EENE ek 5k e o8
SRS
A 13 7 1 1







